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Investigate why the edge bins see a 
dramatic difference
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abs(dp) < 0.04

-0.35 <dp < 0.04
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abs(dp) < 0.04

-0.35 <dp < 0.04
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-0.35 <dp < 0.04
abs(phi) < 0.03 -yptar

-0.35 <dp < 0.04
-0.25< phi< 0.03    -yptar
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-0.35 <dp < 0.04
-0.25< phi< 0.03    -yptar

-0.35 <dp < 0.04
-0.25< phi< 0.025    -yptar
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-0.35 <dp < 0.04
-0.25< phi< 0.025    -yptar
abs(theta) <0.05      -xptar

-0.35 <dp < 0.04
-0.25< phi< 0.025    -yptar
-0.05< th  <0.045     -xptar
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Cuts: MC & Data
Dp +- 0.04
Phi +- 0.03
Th  +- 0.05

Cuts: MC & Data
-0.035< dp < 0.04 
Phi +- 0.025
Th  +- 0.05
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Compare cross section
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